				1	
	BID NO. 2016-037-6574				
	BID NO. 2010-037-0374			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 options to extend	with 3		<b>Fax- 214-432-6617</b> Brian Kates	
	Buyer: Debra Morris - 214-653-7933				
				brian@promotionaldesign.com	
	Recommended for award			ALL	
1	Pants – Male	Estimated Quantity			
	As per Bid specifications : Navy, Grey, White, Various Colors				
	Sizes: 28"-42"	25	each	17.75	\$443.75
	Sizes: 28"-42"	10	each	21.50	\$215.00
	Specify Oversize and Cost:			RedKap PT10	
	Specify Brand/Product			24 42 W 248 known Direk Denve Obersel News	
				26-62 W 36" Inseam, Black, Brown Charcoal, Navy, Royal, Postman, Tan, White	
2	Pants – Male				
2					
	As per Bid specifications Navy, White and Various Colors Sizes: 28"-42"	10	each	21.50	\$215.00
	Sizes: 42" - 54"	10	each	26.50	\$265.00
	Specify Oversize and Cost:			Deditor DO10	
	Specify Brand/Product			RedKap PC10 28-56 W up to 36" Inseam Navy, White, Khaki,	
2	Tell loss Mole			Spruce	
3	Twill Jean – Male				
	As per Bid specifications Black, Khaki, Navy, White and Various Colors			10.50	¢ 407 F0
	Sizes: 28"-42"	25	each	19.50 22.50	\$487.50 \$562.50
	Sizes: 42" - 54" Specify Oversize and Cost:	25	each	21.00	\$00 <u>2</u> .00
	Specify Brand/Product			Dickies 4798	
				30-60W up to 38" Inseam, Black, Brown, Charcoal, Navv. Khaki. Green	
4	Cotton Blend Twill Pants Male				
	As per Bid specifications Khaki, Black, Navy and Various Colors Sizes: 30"-42"	25	each	19.00	\$475.00
	Sizes: 42" - 54"	25	each	23.00	\$575.00
	Specify Oversize and Cost:			Dickies LP810	
	Specify Brand/Product				
				28-60" Black, Navy, Charcoal, White, Khaki	
5	Painter's Utility Pants – Male As per Bid specifications White				
	Sizes: 28"-44"	25	each	22.50	\$562.50
	Sizes: 44" - 54"	25	each	26.50	\$662.50
	Specify Oversize and Cost: Specify Brand/Product			Dickies 1953	
,	Week Charte Male			28-48 W up to 36" Natural White	
6	Work Shorts – Male				
	As per Bid specifications Khaki, Black and Various Colors Sizes: 26"-44"	25	each	18.00	\$450.00
	Sizes: 44" - 54"	25	each	21.00	\$525.00
	Specify Oversize and Cost:				
	Specify Brand/Product			Dickies 42-283 28-60 . Black. Navv. Khaki. Charcoal. Brown	
7	Cotton Original Fit Jeans - Male				
	As per Bid specifications Indigo and Various colors			25.50	¢007 50
	Sizes: 26"-44"	25	each	35.50	\$887.50
	Sizes: 44" - 54"	25	each	35.50	\$887.50
	Specify Oversize and Cost:				

				1	
	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679 5	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 wi options to extend	th 3		Fax- 214-432-6617 Brian Kates	
	Specify Brand/Product			Wrangler 13MW2 27- 46 W up to 40" Inseam , Indigo, Wash Denim	
8	Cotton Jeans, Regular Relax Fit - Male			Rlack Prewash Indian	
-	As per Bid specifications Indigo and Various colors				
	Sizes: 26*-44*	25	each	25.50	\$637.50
	Sizes: 44" - 54"	25	each	27.75	\$693.75
	Specify Oversize and Cost:			Wrangler 0945	
	Specify Brand/Product			29-60 W up to 38" Inseam	
9	Straight Leg Jeans - Male				
	As per Bid specifications Indigo and Various colors				
	Sizes: 26"-44"	25	each	19.50	\$487.50
	Sizes: 44" - 54"	25	each	22.50	\$562.50
	Specify Oversize and Cost: Specify Brand/Product			Dickies 9393 28-56W up to 36" Inseam , Indigo, Rigid Denim, Rinsed Indiao	
10	Wrangler Relax Jeans - Male				
	As per Bid specifications Indigo and Various colors				
	Sizes: 26"-44"	25 25	each each	24.50 27.50	\$612.50 \$687.50
	Sizes: 44" - 54" Specify Oversize and Cost:	25	cuen		
				Wrangler 31MW2	
	Specify Brand/Product			29-46 W up to 40" Inseam, Indigo	
11	Cotton Sweat Pant - Male				
	As per Bid specifications Black, Navy Blue, Gray			11.75	\$293.75
	Sizes: small – xlarge Sizes: 2 xlarge – 5 xlarge	25 10	each each	13.75	\$137.50
	Specify Oversize and Cost:			size 2 xlarge - 4 xlarge	
	Specify Brand/Product			Jerzee 973MR / Port Authority PC90P - 4XL	
				Sm- 4XI Red, Black, Navy, Grey, Forest, Maroon, Ash 4XI in Navv. Black. Grev only	
12	Section 2: Shirts (Male) Poplin Industrial Long Sleeve Shirt Male				
	As per Bid specifications Light Blue, White and Various Colors			12.50	\$625.00
	Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large	50 20	each each	15.00	\$300.00
	Sizes: 4X-Large - 6X-Large	10	each	21.50	\$215.00
	Specify Oversize and Cost: Specify Brand/Product			RedKap SP14	
12	Tall Sizes: X-Small – X-Large	10	each	15.00	\$150.00
	Sizes: 2X-Large – 3X-Large	2	each	15.00	\$30.00
	Sizes: 4X-Large - 6X-Large	2	each	21.50	\$43.00
	Specify Oversize and Cost: Specify Brand/Product			RedKap SP14 S -5X Reg / M-4X Long, Lt. Blue, White, Navy, Grev. Tan	
13	Poplin Industrial Short Sleeve Shirt Male				
	As per Bid specifications Light Blue, White and Various Colors Sizes: X-Small – X-Large	50	each	11.00	\$550.00

13	BID NO. 2016-037-6574 Annual Contract for Work Uniforms Contract Effective Period: April 6, 2016 thru April 5, 2017 ontions to extend Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Specify Oversize and Cost: Specify Brand/Product Tall Sizes: 2X-Large – 6X-Large Sizes: 4X-Large – 6X-Large Sizes: 4X-Large – 6X-Large Sizes: 4X-Large – 6X-Large Specify Oversize and Cost: Specify Brand/Product	with 3	20 10 10 2 2	each each each each each	Promotional Designs 8150 Brookriver Dr. Dallas, Texas 214-295-8679 Fax- 214-432-6617 Brian Kates 13.50 13.50 RedKap SP24 14.50 14.50 14.50 RedKap SP24 S -6X Reg / M-4X Long, Navy, Lt. Blue, White, Black, Khaki	\$270.00 \$135.00 \$145.00 \$29.00 \$29.00	I
14	Cotton Shirt – Long Sleeve Male As per Bid specifications Light Blue and Various Colors Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Specify Oversize and Cost: Specify Brand/Product	10 2 2	50 20 10	each each each each each each	19.50 22.00 22.00 RedKap SC30 22.00 24.00 26.00 RedKap SC40 S -6X R / L-4X Long, Lt. Blue, Navy , White, Khaki, Orange , Grey	\$975.00 \$440.00 \$220.00	\$220.00 \$48.00 \$52.00
15	Cotton Shirt – Short Sleeve Male As per Bid specifications Light Blue and Various Colors Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large		50 20 10	each each each each	18.50 21.00 21.00 RedKap SC30 21.00	\$925.00 \$420.00 \$210.00	
	Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product		2 2	each each	23.00 27.00 RedKap SC40 S -6X R / L-4X Long, Lt. Blue, Navy, Khaki, Orange , Grey	\$46.00 \$54.00	
16	Cotton Button Down Oxford Shirt – Long Sleeve - Male As per Bid specifications Light Blue and Various Colors Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:		50 20 10	each each each	15.00 17.00 17.00	\$750.00 \$340.00 \$170.00	

Annual Contract for Work Uniforms 2016-037-6574

3 of 15

				1	
	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 with a options to extend	3		Fax- 214-432-6617 Brian Kates	
				Dickies SS36	
	Cara elfe Dana d'Dan dura				
	Specify Brand/Product				
	Tall Sizes: X-Small – X-Large	10	each	17.00	\$170.00
	Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large	2 2	each each	17.00 17.00	\$34.00 \$34.00
	Specify Oversize and Cost:	-	ouon		\$0 H00
				Dickies SS36	
	Specify Brand/Product				
				14-20 Neck, 33 1/2 - 37 1/2 Sleeve, Lt. Blue, French Blue, White, Tan	
17	Other Dates Davis Oxford Chief, Chart Classes, Male				
	Cotton Button Down Oxford Shirt – Short Sleeve - Male				
	As per Bid specifications Light Blue, White and Various Colors Sizes: X-Small – X-Large	50	each	14.00	\$700.00
	Sizes: 2X-Large – 3X-Large	20	each	16.00	\$320.00
	Sizes: 4X-Large - 6X-Large	10	each	16.00	\$160.00
	Specify Oversize and Cost:			Dickies SS46	
				DICKICS 3340	
	Specify Brand/Product				
17	Tall Sizes: X-Small – X-Large	10	each	16.00	\$160.00
	Sizes: 2X-Large – 3X-Large	2	each	16.00	\$32.00
	Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	2	each	16.00	\$32.00
				Dickies SS46	
	Specify Brand/Product				
				14-19 1/2 Lt. Blue, French Blue, White, Tan	
18	Broadcloth Cotton Long Sleeve Shirt - Male				
	As per Bid specifications Light Blue, White and Various Colors				
	Sizes: X-Small – X-Large	50	each	19.00	\$950.00
	Sizes: 2X-Large – 3X-Large	20	each	21.00	\$420.00
	Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	10	each	23.00	\$230.00
	Specify Brand/Product			RedKap SP90	
	Tall Sizes: X-Small – X-Large	10	each	23.00	\$230.00
	Sizes: 2X-Large – 3X-Large	2	each	23.00	\$46.00
	Sizes: 4X-Large - 6X-Large	2	each	29.00	\$58.00
	Specify Oversize and Cost:			RedKap SP90	
	Specify Brand/Product			C. F. yl., Lt. Divo, White Name, Conv. Dark D., J.	
				S- 5 xl Lt. Blue, White, Navy, Grey, Red, Royal	

19 Broadcloth Cotton Short Sleeve Shirt – Male

As per Bid specifications Light Blue, White and Various Colors

19	BID NO. 2016-037-6574 Annual Contract for Work Uniforms Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3 ontions to extend Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Sizes: 4X-Large – 6	50 20 10 10 2 2	each each each each each	Promotional Designs 8150 Brookriver Dr. Dallas, Texas 214-295-8679 Fax- 214-432-6617 Brian Kates 17.50 19.50 24.50 RedKap SP80 21.50 29.50 RedKap SP80 S- 6 xl Lt. Blue, White, Navy, Grey, Red, Royal	\$875.00 \$390.00 \$245.00 \$215.00 \$43.00 \$59.00
20	Men's Cotton Polo As per Bid specifications Jade, Teal, Turquoise, Navy, Light Blue, Black, Green and Various Colors Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large	50 20	each each	16.00 18.00	\$800.00 \$360.00
	Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Prand/Product	10	each	24.00 Port Authority K420	\$240.00
20	Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	10 2 2	each each each	18.00 24.00 26.00 Port Authority TLK420	\$180.00 \$48.00 \$52.00
	Specify Brand/Product			S- 6 xl Navy, Lt. Blue, Black, Red, Orange, Turquoise, Yellow, + 15 other colors	
21	Men's Cotton/Poly Blend Polo As per Bid specifications Jade, Aqua, Royal, Gray, Lt. Blue, Lt. Green, Navy, Black and Various Colors Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	50 20 10	each each each	9.50 12.50 14.50 Port Authority KP55	\$475.00 \$250.00 \$145.00
21	Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product	10 2 2	each each each	11.50 14.50 16.50 Port Authority KP55T S- 6 xl Safety Green, Lt. Blue, Navy, Black, Sand, Red, Orange +15 other colors	\$115.00 \$29.00 \$33.00

22	BID NO. 2016-037-6574 Annual Contract for Work Uniforms Contract Effective Period: April 6, 2016 thru April 5, 2017 ontions to extend Men's Cotton Denim Long-Sleeve Work Shirt As per Bid specifications Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Specify Oversize and Cost: Specify Brand/Product	with 3 50 20 10	each each each	Promotional Designs 8150 Brookriver Dr. Dallas, Texas 214-295-8679 Fax- 214-432-6617 Brian Kates 24.00 25.00 27.00 Wrangle 70127	\$1,200.00 \$500.00 \$270.00
22	Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	10 2 2	each each each	26.00 27.00 29.00 Wrangle 70127	\$260.00 \$54.00 \$58.00
	Specify Brand/Product			14-20 up to 38" Sleeve, Rigid Blue	
23	Men's Cotton Denim Short Sleeve Work Shirt As per Bid specifications Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large Specify Oversize and Cost: Specify Brand/Product	50 20 10 10 2 2	each each each each each	22.00 23.00 25.00 Wrangle 70127S 24.00 25.00 27.00 Wrangle 70127S 14-20 , Rigid Blue, Lt. Blue	\$1,100.00 \$460.00 \$250.00 \$240.00 \$50.00 \$54.00
24	Men's Cotton Chambray Long-Sleeved Work Shirt Seal and Department Name on front or custom art as provided by Coun As per Bid specifications Lt. Blue	with Embroidered: County ity			
	Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:	50 20 10	each each each	24.00 26.00 28.00 Wrangle 70130	\$1,200.00 \$520.00 \$280.00
24	Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product	10 2 2	each each each	26.00 28.00 29.00 Wrangle 70130 14-20 Reg, Tall, Big , Lt. Blue	\$260.00 \$56.00 \$58.00

	BID NO. 2016-037-6574 Annual Contract for Work Uniforms				Promotional Designs 8150 Brookriver Dr. Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 options to extend	with 3			Fax- 214-432-6617 Brian Kates	
25	Men's Cotton Chambray Short-Sleeved Work Shirt Department Name on front or custom art as provided by County	with Embroidered	County Sea	and		
	As per Bid specifications					
	Sizes: X-Small – X-Large		50	each	22.00	\$1,100.00
	Sizes: 2X-Large – 3X-Large		20	each	24.00	\$480.00
	Sizes: 4X-Large - 6X-Large		10	each	26.00	\$260.00
	Specify Oversize and Cost:				Wrangle 70130S	
	Specify Drand (Draduat					
	Specify Brand/Product					
	Tall Sizes: X-Small – X-Large		10	each	24.00	\$240.00
	Sizes: 2X-Large – 3X-Large		2	each	26.00	\$52.00
	Sizes: 4X-Large - 6X-Large		2	each	27.00	\$54.00
	Specify Oversize and Cost:				Wrangle 70130S	
	Specify Brand/Product					
					14-20 Reg, Tall, Big , Lt. Blue	
26	Long-Sleeve Shirts Cotton					
20	As per Bid specifications Lt. Blue, White and Various Colors					
			50	each	21.00	\$1,050.00
	Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large		50 20	each	24.00	\$1,050.00 \$480.00
	Sizes: 4X-Large - 6X-Large		10	each	29.00	\$480.00
	Specify Oversize and Cost:		10	cucii	27.00	ψ <u>2</u> 70.00
	Specify Brand/Product				Port Authority K800LS	
26	Tall Sizes: X-Small – X-Large		10	each	23.00	\$230.00
	Sizes: 2X-Large – 3X-Large		2	each	26.00	\$52.00
	Sizes: 4X-Large - 6X-Large		2	each	31.00	\$62.00
	Specify Oversize and Cost:				Port Authority TLK800LS	
	Specify Brand/Product					
					S - 6XI , Cobalt Blue, White, Black, Grey, Maroon	
27	Short-Sleeve Shirts Cotton					
	As per Bid specifications Lt. Blue, White and Various Colors					
	Sizes: X-Small – X-Large		50	each	17.50	\$875.00
	Sizes: 2X-Large – 3X-Large		20	each	21.00	\$420.00
	Sizes: 4X-Large - 6X-Large		10	each	26.00	\$260.00
	Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product			each	26.00 Port Authority K800	\$260.00
27	Specify Oversize and Cost: Specify Brand/Product		10		Port Authority K800	
27	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large		10	each	Port Authority K800 19.50	\$195.00
27	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large		10 10 2	each each	Port Authority K800 19.50 23.00	\$195.00 \$46.00
27	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large		10	each	Port Authority K800 19.50	\$195.00
27	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:		10 10 2	each each	Port Authority K800 19.50 23.00	\$195.00 \$46.00
27	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large – 6X-Large		10 10 2	each each	Port Authority K800 19.50 23.00 28.00	\$195.00 \$46.00
	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost:		10 10 2	each each	Port Authority K800 19.50 23.00 28.00 Port Authority TLK800 S - 6XI , Cobalt Blue, White, Black, Navy, Grey,	\$195.00 \$46.00
	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product Section 3: Coverall (Male) Poplin Short Sleeve Coveralls – Male		10 10 2	each each	Port Authority K800 19.50 23.00 28.00 Port Authority TLK800 S - 6XI , Cobalt Blue, White, Black, Navy, Grey,	\$195.00 \$46.00
	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product Section 3: Coverall (Male) Poplin Short Sleeve Coveralls – Male As per Bid specifications Khaki, Light Blue, Navy		10 10 2	each each	Port Authority K800 19.50 23.00 28.00 Port Authority TLK800 S - 6XI , Cobalt Blue, White, Black, Navy, Grey,	\$195.00 \$46.00
	Specify Oversize and Cost: Specify Brand/Product Tall Sizes: X-Small – X-Large Sizes: 2X-Large – 3X-Large Sizes: 4X-Large - 6X-Large Specify Oversize and Cost: Specify Brand/Product Section 3: Coverall (Male) Poplin Short Sleeve Coveralls – Male		10 10 2 2	each each each	Port Authority K800 19.50 23.00 28.00 Port Authority TLK800 S - 6XI , Cobalt Blue, White, Black, Navy, Grey, Green Red	\$195.00 \$46.00 \$56.00

Annual Contract for Work Uniforms 2016-037-6574

				1	
	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 options to extend	with 3		Fax- 214-432-6617 Brian Kates	
	Specify Oversize and Cost:			Dickies 33999	
	Specify Brand/Product				
	Tall Sizes: X-Small – X-Large	10	each	31.00	\$310.00
	Sizes: 2X-Large – 3X-Large	2	each	31.00	\$62.00
	Sizes: 4X-Large - 6X-Large	2	each	34.00	\$68.00
	Specify Oversize and Cost:			Disking 22000	
				Dickies 33999	
	Specify Brand/Product			S- 3XL Reg, Short, Tall, Black, Navy, Lt. Blue, Red, Grey	
29	Poplin Long Sleeve Coveralls – Male				
	As per Bid specifications Light Blue and Navy				
	Sizes: X-Small – X-Large	20	each	31.00	\$620.00
	Sizes: 2X-Large – 3X-Large	10	each	33.00	\$330.00
	Sizes: 4X-Large - 6X-Large	10	each	36.00	\$360.00
	Specify Oversize and Cost:			Dickies 48611	
	Specify Brand/Product			Dickles 40011	
	Tall Sizes: X-Small – X-Large	10	each	33.00	\$330.00
	Sizes: 2X-Large – 3X-Large	2	each	33.00	\$66.00
	Sizes: 4X-Large - 6X-Large	2	each	36.00	\$72.00
	Specify Oversize and Cost:				
				Dickies 48611	
	Specify Brand/Product			S- 4XL Rea. Tall. Postman Blue. Red. Black	
30	Section 4: Pants / Jeans (Female) Female Elastic Walst Industrial Pants				
	As per Bid specifications Navy, Khaki, Black and Various Colors				
	Sizes: 2-16	25		19.00	\$475.00
	Sizes: 18-24	25	each	21.00	\$525.00
	Specify Oversize and Cost:			Dickies FP211	
	Specify Brand/Product			4-24, Black, Charcoal, Navy, Tan, White	
31	Pleated Front Pants – Female			4-24, DIACK, CHALCOAL, NAVY, TAH, WHILE	
0.	As per Bid specifications Black, Navy, Khaki and Various Colors				
	Sizes: 2-16	25	each	20.00	\$500.00
	Sizes: 18-24	25		22.00	\$550.00
	Specify Oversize and Cost:			Dickies FP220	
	Specify Brand/Product			DICKIES FF220	
32	Women's Cotton Blend Stretch Jean			4-24 Black, Navy, Tan	
52					
	As per Bid specifications Stonewashed Indigo Blue and various Colors				
	Sizes: 2-16	25		25.00	\$625.00
	Sizes: 18-24 Specify Oversize and Cost:	25	each	27.00	\$675.00
	Specify Brand/Product			Dickies FD138 4-24 Denim, Black, Washed Indigo, Stonewash	
33	Women's Cotton Blend Twill Pants				
	As per Bid specifications Khaki, Black, Navy and Various Colors			22.00	<b>#F00 00</b>
	Sizes: 2-16 Sizes: 18-24	25 25		20.00 22.00	\$500.00 \$550.00
		23	cacil		+000.00

				1	
	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3 options to extend			Fax- 214-432-6617 Brian Kates	
	Specify Oversize and Cost: Specify Brand/Product			Dickies FP311 4-24 , Black	
34	Women's Cotton Sweat Pants				
	As per Bid specifications Black, Navy, Gray and Various Colors				
	Sizes: Small - X-large	10	each	12.00	\$120.00
	Sizes: 2 XL - 3 XL	5	each	14.00	\$70.00
	Sizes: 3XI - 6 XL	5	each	N/A	
	Specify Oversize and Cost:				
	Specify Brand/Product			Gildan 18400FL S-2X. Black, White, Navy, Maroon, Charcoal	
	Section 5: Shirts (Female)				
35	Poplin Industrial Long Sleeve Shirt – Female				
	As per Bid specifications Light Blue, White and Various Colors				
	Sizes: X-Small – X-Large	25	each	12.50	\$312.50
	Sizes: 2X-Large – 3X-Large	15	each	15.00	\$225.00
	Specify Oversize and Cost: Specify Brand/Product			RedKap SP13	
				S-4X. Lt. Blue. Petro Blue. Navv. White	
36	Poplin Industrial Short Sleeve Shirt – Female As per Bid specifications				
	Sizes: X-Small – X-Large	25	each	11.00	\$275.00
	Sizes: 2 X-Large – 3X Large	15	each	13.50	\$202.50
	Specify Oversize and Cost:				
	Specify Brand/Product			RedKap SP23 S-4X. Lt. Blue. Petro Blue. Navv. White	
37	Pique Polo Style Knit Short Sleeve Shirt Female with silk screened embroidered emblem. Non-water based ink shall be used for silk screening	or direct			
	As per Bid specifications Black, Navy, White, Hunter Green, Maroon, Jade, Gray, various colors				
	Sizes: X-Small – X-Large	25	each	14.00	\$350.00
	Sizes: 2 X-Large – 3X Large	15	each	16.00	\$240.00
	Specify Oversize and Cost:				
	Specify Brand/Product			Dickies FS023 S-3X, Black, Navy, Red, Grey, White	
38	Pique Polo Style Knit 3/4 Sleeve Shirt Female				
	As per Bid specifications Black, Navy, White, Hunter Green, Maroon, Jade, Gray				
	and various colors	05		17.00	\$ 105 00
	Sizes: X-Small – X-Large Sizes: 2 X-Large – 3X Large	25 15	each each	17.00 20.00	\$425.00 \$300.00
	Specify Oversize and Cost:	15	cuchi	20.00	\$300.00
	Specify Brand/Product			Port Authority L562	
				XS - 48, Lt. Blue, Royal, Red, Navy, Pink, Black	
39	Cotton Button Down Oxford Shirt - Long Sleeve -Female				
	As per Bid specifications Light Blue, White and Various Colors				
	Sizes: X-Small – X-Large	25	each	18.00	\$450.00
	Sizes: 2 X-Large – 3X Large	15	each	19.00	\$285.00
	Specify Oversize and Cost:			Disking EL2E4	
	Specify Brand/Product			Dickies FL254 XS- 2XL. Lt. Blue. French Blue. White. Tan	
40	Cotton Button Down Oxford Shirt – Short Sleeve -Female				
	As per Bid specifications Light Blue, White and Various Colors				
	Sizes: X-Small – X-Large	25	each	15.00	\$375.00
	Sizes: 2 X-Large – 3X Large	15	each	16.00	\$240.00
	Specify Oversize and Cost:				

				I	
	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3 options to extend			Fax- 214-432-6617 Brian Kates	
	Specify Brand/Product			Dickies FS254 XS- 2XL, French Blue, Lt. Blue, Tan, White	
41	Broadcloth Cotton Shirt - Long Sleeve -Female				
	As per Bid specifications Light Blue, White and Various Colors Sizes: X-Small – X-Large Sizes: 2 X-Large – 3X Large Specify Oversize and Cost: Specify Brand/Product	25 15	each each	19.00 21.00 RedKap SP91 4-24 , Lt. Blue, White, Red, Navy, Black, Royal	\$475.00 \$315.00
42	Broadcloth Cotton Shirt - Short Sleeve -Female				
	As per Bid specifications Light Blue, White and Various Colors Sizes: X-Small – X-Large Sizes: 2 X-Large – 3X Large Specify Oversize and Cost: Specify Brand/Product	25 15	each each	17.50 19.50 RedKao SP81 4-24 , Lt. Blue, White, Red, Navy, Black, Royal	\$437.50 \$292.50
43	Poplin Long Sleeve Shirt -Female				
	As per Bid specifications Light Blue, White and Various Colors Sizes: X-Small – X-Large Sizes: 2 X-Large – 3X Large Specify Oversize and Cost: Specify Brand/Product	25 15	each each	18.00 20.00 Dickies FL086 S- 2XI, White, French Blue, Black	\$450.00 \$300.00
44	Poplin Short Sleeve Shirt -Female				
	As per Bid specifications Light Blue, Navy, Black, Burgundy, White, Green and Various Colors				
	Sizes: X-Small – X-Large	25	each	22.00	\$550.00
	Sizes: 2 X-Large – 3X Large Specify Oversize and Cost: Specify Brand/Product	15	each	24.00 Dickies FS086 S- 2XI, White, French Blue, Black	\$360.00
45	Silk Touch Polo Shirt -Female				
	As per Bid specifications Light Blue, Navy, Black, Burgundy, White, Green and Various Colors				
	Sizes: X-Small – X-Large	25	each	13.00	\$325.00
	Sizes: 2 X-Large – 3X Large Specify Oversize and Cost: Specify Brand/Product	15	each	15.00 Port Authority L500 S - 6X , Lt. Blue, Navy, Black, Burgundy, White, + 27 other colors	\$225.00
46	Section 6: Medical Apparel Unisex Scrub Tops As per Bid specifications various colors				
	Sizes: X Small – X Large Sizes: 2X-Large – 3X Large	10 10	each each	11.00 13.00	\$110.00 \$130.00
	Sizes: 4X Large	10	each	15.00	\$150.00
	Specify Oversize and Cost: Specify Brand/Product			Cornerstone CS501 S- 4X . Blue. Jade. Green. Navv	
47	Unisex Scrub Pant As per Bid specifications various colors				
	Sizes: X Small – X Large	10	each	13.00	\$130.00
	Sizes: 2X-Large – 3X Large	10 10	each	15.00	\$150.00 \$170.00
	Sizes: 4X Large Specify Oversize and Cost:	10	each	17.00	\$170.00
48A	Specify Brand/Product Short Length lab Coat As per Bid specifications White Female Cut/Style			Cornerstone CS502 S- 4X , Blue, Jade, Green, Navy	

				1	
	BID NO. 2016-037-6574			Promotional Designs	
				8150 Brookriver Dr. Dallas, Texas	
	Annual Contract for Work Uniforms			214-295-8679 Fax- 214-432-6617	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 options to extend	with 3		Brian Kates	
	Sizes: X Small – X Large	5	each	25.00	\$125.00
	Sizes: 2X-Large – 3X Large	1	each	27.00	\$27.00
	Sizes: 4X Large	1	each	29.00	\$29.00
	Specify Oversize and Cost:				
	Specify Brand/Product			Cherokee 1446	
400					
48B	Medium Length lab Coat As per Bid specifications Female Cut/Style				
	Sizes: X Small – X Large	5	each	25.00	\$125.00
	Sizes: 2X-Large – 3X Large	1	each	27.00	\$27.00
	Sizes: 4X Large	1	each	29.00	\$29.00
	Specify Oversize and Cost: Specify Brand/Product			Cherokee 1446B	
48C	Long Length lab Coat As per Bid specifications				
	Male Cut/Style				
	Sizes: X Small – X Large	5	each	25.00	\$125.00
	Sizes: 2X-Large – 3X Large	1	each	27.00	\$27.00
	Sizes: 4X Large	1	each	29.00	\$29.00
	Specify Oversize and Cost: Specify Brand/Product			Cherokee 1446C	
				XS- 5XI	
49	Short Sleeve Smock				
	As per Bid specifications Navy Blue, Light Blue, White				
	Sizes: X-Small – X-Large	10	each	14.75	\$147.50
	Sizes: 2 X-Large – 3X Large	5	each	16.75	\$83.75
	Sizes: 4 X Large	3	each	19.00	\$57.00
	Specify Oversize and Cost: Specify Brand/Product			RedKap TP23	
				XS- 4XI , Red, Lt. Blue, White, Tan, Navy	
	Section 7: T-Shirts				
50	Unisex Cotton T Shirts				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and	Various			
	Colors	valious			
	Sizes: X Small - XL Large	50	each	5.75	\$287.50
	Sizes: 2X-Large – 3X Large	2	each	7.75	\$15.50
	Sizes: 4X Large - 5X large	2	each	9.75	\$19.50
	Specify Oversize and Cost:			size 4 xlarge - 6 xlarge	
	Specify Brand/Product			Port Authority PC55	
				S - 6X, White, Orange, Lt. Blue, Navy, Jade, Black.+ 20 other colors	
- 4					
51	Unisex Cotton T Shirts with Pocket				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Colors	Various			
	Sizes: X Small - XL Large	50	each	6.75	\$337.50
	Sizes: 2X-Large – 3X Large	2	each	8.75	\$17.50
	Sizes: 4X Large - 5X Large	2	each	9.75	\$19.50
	5 5			size 4 xlarge - 6 xlarge	
	Specify Oversize and Cost:			Dort Authority DCEED	
	Specify Brand/Product			Port Authority PC55P S - 6X, White, Orange, Lt. Blue, Navy, Jade,	
				Black + 13 other colors	
52	Unisex Cotton Blend Long Sleeve T Shirts				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and	Various			
	Colors				
	Sizes: X Small - XL Large	50	each	9.00	\$450.00
	Sizes: 2X-Large – 3X Large	2	each	11.00	\$22.00
	Sizes: 4X Large - 5X Large	20	each	13.00 size 4 xlarge - 6 xlarge	\$260.00
	Specify Oversize and Cost:				
	Specify Brand/Product			Port Authority PC55LS	

Annual Contract for Work Uniforms 2016-037-6574

11 of 15

				I	
	BID NO. 2016-037-6574				
				Promotional Designs 8150 Brookriver Dr.	
	Annual Contract for Work Uniforms			Dallas, Texas 214-295-8679	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3			Fax- 214-432-6617 Brian Kates	
	options to extend				
				S - 6X, White, Orange, Lt. Blue, Navy, Jade, Black + 12 other colors	
53	Men's Cotton Short Sleeve T Shirts				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Various				
	Colors Sizes: X Small - XL Large	50	each	5.75	\$287.50
	Sizes: 2X-Large – 3X Large	2	each	7.75	\$15.50
	Sizes: 4X Large - 5X Large	2	each	9.75	\$19.50
	Specify Oversize and Cost:			size 4 xlarge - 6 xlarge	
	Specify Brand/Product			Port Authority PC55 S - 6X, White, Orange, Lt. Blue, Navy, Jade,	
_				Black.+ 20 other colors	
54	Men's Cotton Blend Short Sleeve T Shirts with Pocket				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Various Colors				
	Sizes: X Small - XL Large	50	each	11.50	\$575.00
	Sizes: 2X-Large – 3X Large Sizes: 4X Large - 5X Large	2 2	each each	13.50 15.00	\$27.00 \$30.00
		-	ouon	size 4 xlarge - 6 xlarge	\$00100
	Specify Oversize and Cost: Specify Brand/Product			Port Authority PC55LSP	
				S - 6X, White, Orange, Lt. Blue, Navy, Jade, Black + 20 other colors	
55	Men's Cotton Short Sleeve T Shirts with Pocket				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Various				
	Colors Sizes: X Small - XL Large	50	each	6.75	\$337.50
	Sizes: 2X-Large – 3X Large	2	each	8.75	\$17.50
	Sizes: 4X Large - 5X Large	2	each	9.75	\$19.50
	Specify Oversize and Cost:			size 4 xlarae - 6 xlarae	
	Specify Brand/Product			Port Authority PC55P S - 6X, White, Orange, Lt. Blue, Navy, Jade,	
				Black + 13 other colors	
56	Men's Cotton Short Sleeve T Shirts				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Various Colors				
	Sizes: X Small - XL Large	50	each	6.00	\$300.00
	Sizes: 2X-Large – 3X Large	2 2	each	8.00 10.00	\$16.00 \$20.00
	Sizes: 4X Large - 5X Large	Z	each	size 4 xlarge - 6 xlarge	\$20.00
	Specify Oversize and Cost: Specify Brand/Product			Port Authority PL61	
				S - 6X, White, Orange, Lt. Blue, Navy, Jade, Black.+ 13 other colors	
57	Men's Cotton Blend Long Sleeve T Shirts				
	As per Bid specifications White, Orange, Light Blue, Navy, Jade, Black and Various				
	Colors	50	oach	0.00	\$450.00
	Sizes: X Small - XL Large Sizes: 2X-Large – 3X Large	2	each each	9.00 11.00	\$430.00
	Sizes: 4X Large - 5X Large	2	each	13.00	\$26.00
	Specify Oversize and Cost: Specify Brand/Product			Port Authority PC55LS	
				S - 6X, White, Orange, Lt. Blue, Navy, Jade, Black.+ 12 other colors	
58	Women Cotton Short Sleeve V-Neck T Shirts Screen-print or embroidere	d County			
	As per Bid specifications Jade, Turquoise, Teal, Aqua and Various Colors				
	Sizes: X Small - XL Large	50	each	11.00	\$550.00
	Sizes: 2X-Large – 3X Large Sizes: 4X Large	2 2	each each	12.00 N/A	\$24.00
	·	-	Such		
	Specify Oversize and Cost:			I	

				I	
	BID NO. 2016-037-6574			Promotional Designs	
	Annual Contract for Work Uniforms	8150 Brookriver Dr. Dallas, Texas 214-295-8679 Fax- 214-432-6617 Brian Kates			
	Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3 options to extend				
	Specify Brand/Product			LAT3587 * decoration priced separately S - 3X, Jade, Turquoise, Aqua, Raspberry, Pink,+ 16 other colors	
59	Women Cotton Long Sleeve V-Neck T Shirts         Screen-print or embroidered           Seal and Department Name on front or custom art as provided by County on back	d County			
	As per Bid specifications Jade, Turquoise, Teal, Aqua and Various Colors				
	Sizes: X Small - XL Large	50	each	12.00	\$600.00
	Sizes: 2X-Large – 3X Large	2	each	13.00	\$26.00
	Sizes: 4X Large	2	each	N/A	
	Specify Oversize and Cost: Specify Brand/Product			LAT3577 * decoration priced separately S - 2X, Turquoise, Red, Raspberry, Charcoal, Black, White	
60	Section 8: Caps and Jackets Uniform Cap-Golf Style with direct embroidered County Seal/ Emblem				
	As per Bid specifications Navy Blue, Black, Blue, Khaki, White Sizes: One Size fits all				
	Summer Style	100	each	6.75 logo included Valuecap 8804H	\$675.00
	Winter Style	100	each	6.75	\$675.00
	Specify Brand/Product			logo included Valuecap 8869H White, Black, Forest, Khaki, Red, Navy, Royal	
				white, black, rolest, khaki, keu, huvy, keyar	
61	Cap with direct embroidered County Seal/ Emblem				
	As per Bid specifications Two/Tone Stone/Navy, Stone/Black, Khaki/Navy Sizes: One Size fits all Summer Style	100	each	7.75	\$775.00
		100	cacin	logo included - Valuecap 8804H	\$775.00
	Winter Style Specify Brand/Product:	100	each	7.75 logo included - Valuecap 6440 Navy, Orange, Red, Pink, Forest, Black, White, Royal, Silver, Stone, Yellow, Khaki/Black, Khaki/Forest, Khaki/Navy	\$775.00
62	Knit Cap "Beanie" Style 8"				
	As per Bid specifications Navy Blue, Royal Blue, Khaki, White and Various Colors Sizes: One Size fits all Specify Brand/Product:	200	each	3.25 Sportsman SP08	\$650.00
				Navy, Black, Royal, Khaki, White +24 other colors	
63	Knit Cap "Beanie" Style 12"				
	As per Bid specifications Navy Blue, Royal Blue, Khaki, White and Various Colors				
	Sizes: One Size fits all	200	each	3.50	\$700.00
	Specify Brand/Product:	200	Cacil	Sportsman SP12	\$700.00
				Navy, Black, Royal, Khaki, White +24 other colors	
64	Windbreaker Jackets As per Bid specifications Black, Navy, Gray				
	Sizes: Small – X Large	20	each	20.00	\$400.00
	Sizes: 2X-Large – 3X Large	5	each	23.00	\$115.00
	Sizes: 4X Large	5	each	26.00	\$130.00
	Specify Over-size and Cost: Specify Brand/Product:			5X \$28.00 - 6X \$30.00 Sun Mar- Port Authority 3ST71	
				S- 6xl, Royal, Black, Navy, Maroon, Forest, Red	
65	All Season jacket				
	As per Bid specifications Black, Navy, Gray Sizes: Small – XL Large	20	each	38.50	\$770.00
	Sizes, Small - AL Large	20	Cault	100.00	φ <i>ι</i> τ0.00

	BID NO. 2016-037-6574			Promotional Designs 8150 Brookriver Dr. Dallas, Texas	
	Annual Contract for Work Uniforms			214-295-8679 Fax- 214-432-6617	
	Contract Effective Period: April 6, 2016 thru April 5, 2017 options to extend	with 3		Brian Kates	
	Sizes: 2X-Large – 3X Large	5	each	41.50	\$207.50
	Sizes: 4X Large Specify Oversize and Cost: Specify Brand/Product:	5	each	45.00 5X \$52.00 - 6X \$54.00 Tri Mountain 3600 S - 6xl + Talls, Black, Red, Navy, Grey, Royal,	\$225.00
				Maroon, Brown	
66	Hooded Sweat Jacket embroidered: County Seal and Department Nam provided by County on back	ne on front or custom art as			
	As per Bid specifications Black, Navy, Gray	25	oach	32.00	\$800.00
	Sizes: Small – XL Large Sizes: 2X-Large – 4X Large	5	each each	34.00	\$170.00
	Specify Oversize and Cost:	Ŭ	caen	54.00	\$170.00
	Specify Brand/Product:			Dickies TW382	
				S - 4X , Black, Brown Navy, White, Grey	
67	Winter Parka				
07	As per Bid specifications Black, Navy				
	Sizes: Small – XL Large	10	each	70.00	\$700.00
	Sizes: 2X-Large – 3X Large	3	each	74.00	\$222.00
	Sizes: 4X Large	2	each	77.00	\$154.00
	Specify Oversize and Cost: Specify Brand/Product:			2x & 3x + \$4.00 / 4x + \$7.00 Lawpro JC440 S - 4X , Black, Navy	
68	Bandanas				
	As per Bid specifications	500		0.50	¢1 050 00
	Cotton Specify Brand/Product:	500	each	2.50 Port Authority C842	\$1,250.00
				Black, Pink, Red, Hunter, Maroon, Navy, Roya	I,
				White Paisley, Navy Paisley, Red Paisley	
69	County / Department Seal direct to garment embroidery	500	each	3.75	\$1,875.00
	Set up charge for custom direct embroidery logo One time charge			\$	40.00
70	Full Back Embroidery (on Shirt or Jacket)	100	each	14.50	\$1,450.00
	Set up charge for full back embroidery One time charge			\$	40.00
71					
	Department Name Embroidery (Shirt, Jacket, Cap)	100	each	3.75	\$375.00
	Set up charge for department name embroidery One time charge				\$5.00
72	County/Department Seal direct to garment Screen Print Set Up charge for County seal screen print	500	each	2.00	\$1,000.00
	One time charge			\$	20.00
73	Full Back Screen Print (on Shirt or Jacket) Set up charge for full back screen print	100	each	2.00	\$200.00
	One time charge			\$	20.00
74	Department Name Screen Print (Shirt, Jacket, Cap	100	each	4.00	\$400.00
	Set up charge for department name screen print				
	One time charge			\$	10.00
75	Set Up Custom Art Screen Print				
	One time charge			\$	25.00
76	Set Up Custom Art Embroidery				FF 00
	One time charge			\$	55.00

	BID NO. 2016-037-6574 Annual Contract for Work Uniforms Contract Effective Period: April 6, 2016 thru April 5, 2017 with 3 options to extend			Promotional Designs 8150 Brookriver Dr. Dallas, Texas 214-295-8679 Fax- 214-432-6617 Brian Kates		I
76	Addendum # 1 Carpenter / Utility Pants - Male As per Bid specifications Black Sizes: 28"-42" Sizes: 44" - 54" Specify Oversize and Cost: Specify Brand/Product	300 200	each each	21.25 23.25 size 44" - 50" Dickies 1939	\$6,375.00 \$4,650.00	
			TOTAL			\$87,759.00
	Il be handling this account:		Monica Cox 214-295-8679 monicac@promotionaldesigns.com			
	Location of Distribution Facility			8150 Brookriver Drive, Suite S-155, Dallas. Texas 75247		
	Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:			PDI does all services in-house		
	Bidders are required to indicate whether they have the required products on hand at the time of the bid or whether they will be required to obtain such upon award. Please indicate by checking the appropriate box:					
	We do have the products in stock We will be required to obtain the products upon award of bid			х		
	Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?			Yes		